M & 0 & AF Y E A A
20098 & =0l &k LB A
M A2l A E A
A 23 2 MSAE 2 (L2 /230 =)

t: M2t 2 MSAE 2el (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
AEZel At A 3,674,854 1,787,347 1,887,507

= 978,000
= 20,000
& 19,140
= 2,657,714
23 2 MSAE 22(23L22/2350=) 1,891,114 1,754,697 136,417
= 20,000
= 19,140
= 1,851,974
Od=3st2t L MIAE 2el 978,558 857,595 120,963
= 20,000
= 19,140
= 939,418
M2z 2 671,018 613,601 57,417
201 LBHEHH| 359,410 263,993 95,417
01 At=2teldl 21,420 19,240 2,180
O2E7gl 550,000& 105 5,500
OEEZ H&E (= MOILISX)
3,000& *1,000% 3,000
ONAaE 2 (Hsts 2 58)
500,000& «4& 2,000
OE0otgHl =25 250,000& 128 3,000
ORSLH o5 =22 300,000& = 12& 3,600
OuEIIE =25 200,000 * 123 2,400
OtlEa=EE 10,000 x55*12& 600
OoTv=lz 110,000 * 123 1,320
02 ==29gHl 337,990 244,753 93,237
O&IINEZ 10,000,000 & *12& *1/2 60,000
OFHAIE dIIMER
3,000,000 x12&%1/2 18,000
O&dl=E A= 5,000,000 x12& *1/2 30,000
Ostea 300,000& =12& 3,600
OtZMe 2E3 4,500,000& x23] 9,000
OHESNIMEE 5,000,000& *1= 5,000
OO0ISAt that MABE 3,000,000& *3= 9,000

_1_




A AIE eI A
HH: 23 L HSAL 2ol (222 /250 =)
I

ol HHSSR L HMSAL 2l (e19: @8
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
Odgeiz pel 1,1202 95, 178.5 ¢ 106,600
OA=2 NEFY A 3,50021%8,0001 28,000
O2IA & ALY 2R
15,000, 0002 *14] 15,000
O 2L M 4,000,000 *23] 8,000
OWsI| N2 2,750,0002! 13| 2,750
o243 4 750,0002 *23] 1,500
OYLte A& (0012)3 A
10,0002 #1574 A 1,500
OSsA& Xl SNl 6,000, 0002 x22§ 4 12,000
OR0 X9 AL =l SNl
8,500, 0002 x2} 17,000
OFBZE HAH 1,000,000 %374 2 3,000
O RN 1,500 2,560 £ 3,840
OxF+ 2 OB 50,0002 * 1024 x4 3] 2,000
OBBEAAIL BUISL 550,000 *43] 2,200
206 M=l 3,000 3,000 0
EEE] 3,000 3,000 0
OA2XM(HRS)AY 3,000,000 14! 3,000
307 QI2b0lF 138,120 131,544 6,576
05 oIztgierz 138,120 131,544 6,576
OF A S (0723 2)
11,510,0002 122 138,120
401 A&HILLHH 145,000 167,196 £22,196
01 AlZH] 145,000 166,000 ~21,000
O &I LY Her
500,000,002 %1/5 100,000
OBtE=2 O{SE 23 A 15,000
—0{210l =0IE A& 15,000, 0002 %14} 15,000
OUZHE ALH AL 30,000,0002 14! 30,000
402 2I2AX0IF 19,488 17,868 1,620
I ENER] 19,488 17,868 1,620
OFIINLHEEY e 242
724,0002 122 8,688
OAAS HEFAUY +42
300,0002 *122 3,600

_2_




A AIE eI A
HH: 23 L HSAL 2ol (222 /250 =)
I

Sl OIHSEE U HSAL 2o (S5l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
O2) AEEZ UE 248
270,000 * 122 3,240
OCCTV B2 442 30,0002 *122 3,960
405 XarE S 6,000 30,000 24,000
01 TMUSEFHSY] 6,000 30,000 24,000
OYeg HEH 7Y 1,500, 0002 *4CH 6,000
ITTNE 2Y 33,866 26,137 7,729
= 20,000
2 3,866
101 oIty 8,866 6,137 2,729
10 JAHZEZNSES 8,866 6,137 2,729
OEHZ 29 8,866
-Jl23 34,0002 %1802 +1% 6,137
—ERSY 34,0002 %362 1 1,208
—RNRIBINLY 34,0002 48 1 273
—puaRsy 34,0002 %362 +1% 1,228
308 XHXIEHH SOIH 10,000 10,000 0
= 10,000
06 DEIIBUHSARES 10,000 10,000 0
ORF ZJEAHZ SHTYH N
10,0002 %1, 0002 10,000
= 10,000
405 XarF S 15,000 10,000 5,000
= 10,000
2 5,000
02 SATY 15,000 10,000 5,000
OFYTAHT TAPY 10,0002 %1, 5002 15,000
= 10,000
2 5,000
Suiesss 29 21,300 7,400 3,900
201 syl 4,000 600 3,400
(2 ZZ=ul 4,000 600 3,400
OSeAE UK 4,000,000 17§ & 4,000
206 &I 6,800 6,800 0




A AIE eI A
HH: 23 L HSAL 2ol (222 /250 =)
I

Sl RES L MSAE el (St5: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
T 6,800 6,800 0
O=AE & 7Y 40021+ 12,000 4,800
OTLI S0 1,000, 00024 #23] 2,000
401 Al&HI L2 4,500 0 4,500
01 Al 4,500 0 4,500
OnzYE L 4,500,00021 *14} 4,500
405 THHFE S 6,000 0 6,000
01 KNALESEFSH] 6,000 0 6,000
ONE 2 ¢ 6,000, 0002 * 14 6,000
L2+ 29 91,224 53,295 37,929
101 Q12| 19,024 32,895 ~13,871
B EENEEE 19,024 32,895 £13,871
O4+2% 2309 o2 19,024
—Jez 34,0002 %1802 +2% 12,273
—ERaY 34,0002 %362 +2 2,455
—ARNRBENLY 34,0002 +92 x2 614
—FYzesg 34,0002 %362 +2F *1.5 3,682
201 ety 23,700 8,400 15,300
01 AFRarelt] 13,300 7,200 6,100
OZME #E 7Y 450,000 <8 3,600
O+YALSE 2 (I} 8,00024 +507H 400
OZzIY 29 1,000, 000! *33] 3,000
O+2% W 241 A
5,000,00024 +17H 2 5,000
OREZHI(A2AR §2) 7
100,002 +34 300
OBHZE HA &XI0H 1,000, 00024 *14} 1,000
02 ZZSYHI 10,400 1,200 9,200
O21IBY S22 (EIZHII)
4000002 *33] 1,200
OIIH A &R 1,500, 0002 43| 6,000
Osla@el AlAE 29y 800, 0002 43| 3,200
206 THEH| 12,000 12,000 0




A AIE eI A
HH: 23 L HSAL 2ol (222 /250 =)
I

Bl G2 L MSAS 2el CERE
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH loﬂ/i\_Fo” Hos
01 M=H 12,000 12,000 0
O+EAE 79 3,000,000 *4% 12,000
405 THeHESH| 36,500 0 36,500
01 XAUSEF S| 36,500 0 36,500
O+ ®aJ| 2 20,000,000 *1CH 20,000
OZelal 2EEH 2Y 1,500,0002 *1CH 1,500
OEIZ | P 15,000,000 *1CH 15,000
AsHen 29 13,400 1,200 12,200
201 Ypre | 8,400 1,200 7,200
02 ZZ2H| 8,400 1,200 7,200
OIDIBAL4E (ASHBR HAI|T)
1,000,0002 *43| 4,000
OgAIT & 4,400
— LD A HE D 250,000 *5H 1,250
— LD 2UE &3 450,0002 *7CH 3,150
405 TrakE S| 5,000 0 5,000
01 RAIYSE3 =S| 5,000 0 5,000
O#AIR 7Y 5,000
— 2L 4l 2,500,000 *1CH 2,500
—MXY 20| 1,200,0002 *1CH 1,200
L E 650,000 <2CH 1,300
BIRENSY 29 83,700 132,012 48,312
201 Ypre | 17,200 23,040 A5,840
02 ZzZ2gHl 17,200 23,040 N5,840
OA&ZHIS Xl 17,200
—ZHAIE R 150,000, 0002 *8% 12,000
—SEAE KX 65,000, 000! *8% 5,200
206 TEHI 6,000 0 6,000
01 M= 6,000 0 6,000
OXYANE ARX(ERS)PY
1500002 *40H 6,000
401 AlZHIL S0 60,500 108,972 48,472
01 Al&H 60,500 108,000 47,500




A AIE eI A
HH: 23 L HSAL 2ol (222 /250 =)
I

ol RSS2 HSAL el (St5: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SEECEEYTT 4,500, 00021 *14] 4,500
OAHE Bt SHBA 40,0002 *1,400 56,000
Y@ 29 1,250 1,950 £10,700
201 LPr2 | 1,250 1,950 £10,700
01 AFR2elt] 1,250 0 1,250
OV Fa2 P 25, 00021 %5071 1,250
A&zl 29 J1=2| 1,000 12,000 A1,000
202 Ol 1,000 12,000 A1,000
01 =00l 11,000 12,000 A1,000
ONE2Y S0yl 6,000,00024 6,000
OA&2l &% 01yl 5,000,000 5,000
e S 24 X 12,200 0 2,200
= 3,660
2 8,540
307 eI2t0lH 2,200 0 12,200
= 3,660
2 8,540
02 PAANBE 12,200 0 12,200
OXSTHZ 24Ul K&
12,200, 0002 * 174 & 2,200
= 3,660
2 8,540
SDOFSEMZ N A 39,600 0 39,600
= 15,480
2 24,120
308 XXIEHSOIH 39,600 0 39,600
= 15,480
2 24,120
06 wSIIZNUEZES 39,600 0 39,600
O DOIS T A LAY X
13,200, 0002 +374 2 39,600
= 15,480
2 24,120
SIS 22l 912,556 897, 102 15,454
BICME 2 423,797 318,990 104,807
|




A AIE eI A

FH: 25 L HMSAE 2el (2L 22/230=)
Pl RO E 2t (St M
SA-ZH - S2A(3AH) - MEAME - HES Off & 2K glggfg Blus
201 Ler2gy 212,960 129,178 83,782
01 At2 2l 72,000 66,440 5,560
Otz 75 10,0002 55«12 600
OTv =dlz 50,0002 » 123 600
Os2= MA 19,000
— OHLH 2 Xt 3,000% *3,000F 23] 18,000
-S89 100,000& 105 1,000
OJ1Hd RX 2| 4 300,000 122 3,600
O3 =2 600,000 «12& 7,200
ORSYM 25 =28 300,000 122 3,600
OQUENE =22 200,000 122 2,400
O=st{dlzZA N H 20,000
—S2ESH AR 1,000 +14,000% 14,000
—OHLH XL I 3,000& *2,000% 6,000
OeHti = UcC M2 15,000,000& * 14| 15,000
02 =522l 125,960 62,738 63,222
Oddt== AMERZ 2,000,000 x12& 24,000
osdea 300,000 122 3,600
OF=:PIFab == 4,000,000& »23 8,000
OH=AMNES 5,000,000 *15 5,000
OO0lESAtta HyE2E 2,000,000& *15 2,000
OZESA AIE FHIRAYI
3,000,000 *43] 12,000
OH==2 AEdHl =Xl 3,500%+6,200m 21,700
OJIAEH AEEHl =Xl
15,000,000& * 14| 15,000
Os283 & 750,000& *27H %23 3,000
odgoi(ooz )34 100,000 * 107 £ 1,000
OxZ+ & &2 50,0002 10 »43| 2,000
Ooggz sttt 24 32,0002 *130m 4,160
OSHOIX =X 2=t 1,500
- RN+ 25,000, 0002 *6% 1,500




S A
X XH .
(=

chel:

gHE 2te|

R MSAE 2e(2st2Z/250s)
I

_ _ MNuE o
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o4 il i~ o HRs2
OBIIZ0l MAK =8 BE4 =4
1,500 *2,0001" 3,000
OBIHZ0| SA 208 29
10,000, 0002 *23| 20,000
03 A2 15,000 0 15,000
OO1RI0| AHCHE! TN 10,000, 0002 %13} 10,000
OBHIME AR 223 5,000,0002 *13] 5,000
206 Mzl 3,000 6,000 A3,000
01 M=l 3,000 6,000 3,000
OBIIME ARTTH(HTS) P
3,000,0002 *14! 3,000
307 2I2H0IH 132,000 131,544 456
05 oIZtIErz 132,000 131,544 456
OHARY 11,000,0002 122 132,000
401 AZHI L2 49,469 20,000 29,469
01 A& 48,940 20,000 28,940
Ogwz Myl 67,0002 300 20,100
OZE “EILR AR 760,000 %9 6,840
O#lE IR 7,000,002 +1S 7,000
O#E Rax| 3,000,0002 *57H 4 15,000
03 A&l 529 0 529
OBHCIME AL 2T 48,940,0002 *1.08% 529
402 QT =0|H 22,368 14,268 8,100
02 IZHTHE! AFRIb] 22,368 14,268 8,100
OFIIANE QHHEFZ e +48
724,0002 * 122 8,688
OAAL SHEEZ (8 448
3000002 x20 2 #1202 7,200
OS2Il HHFZ 8 +42
270,00021 <20 £ *12% 6,480
405 XA S 4,000 18,000 A 14,000
01 RALSEFSH 4,000 8,000 A 14,000
O2E+28 2EH0 2 4,000
—48 DE AOI2 4,000,002 *1CH 4,000
DEUS 29 375,000 350,309 24,691




A AIE eI A

Ha: 25 U HSAL 22(SFUBB/S0E)
chel: wiClME 2e (649l &2
= o MuE o
SN -ZH A (ZH) - MFAY - BES &Sy Ol A o8 HlusSZ
201 Y2yl 344,600 308,309 36,291
01 ARzl 16,500 166,000 149,500
O2% 92 29 16,500
—Z273y 29yl 5,000,0002 14} 5,000
2y 2oyl 5,000,0002 14} 5,000
—S4EAH 5,000,0002 14} 5,000
—El27e 150,0002 * 108 1,500
02 22| 328,100 142,309 185,791
Ol NER 10,000,000% * 122 120,000
OFHAL ®I| ABE 1,000,0002! 122 12,000
Ougeiz el 1,12024%87,053.5 £ 97,500
OSA32 ANERY S
625,000, 000! *8% 50,000
OPYAA L EBH RS
250,000, 000! *8% 20,000
OFAIA RXB4 22,500
—HAA RS 1,000,0002! 122 12,000
— g SMRXE S 56,250, 0002 *6% 4,500
~HBEANY RX2L 75,000, 0002 8% 6,000
OEIZI HAL+4E 400,0002 33| 1,200
OIAHA WesI| A2t 4,000,0002+0.7 2,800
O24 2 M 3,000,0002%0.7 2,100
206 Mzl 20,800 24,000 ~3,200
01 M=l 20,800 24,000 3,200
OSA3g DRME yo
1,700,0002! 8} 13,600
O3, 224 ZTZNME HO
1,200,0002 *64 7,200
402 QIZXHZOIH 6,600 3,000 3,600
02 IZHHE! AFRIH] 6,600 3,000 3,600
OCCTVEH g 442 50,0008 * 122 6,600
405 XA S 3,000 0 3,000
01 MAUSZFSH] 3,000 0 3,000
O2YE 2FE 7Y 3,000




A AL 2te| ALY A

B 25 U HSAL BE(SHLTB/25H002)
Chelr BOE 2el (298
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
-l E FRH 1,500,000 =1CH 1,500
—ESEFH 1,500, 0003 = 1CH 1,500
FAEogd 29 16,460 10,800 5,660
201 ZEr=23H] 11,000 9,000 2,000
01 AtR2teld 7,000 9,000 A2,000
OF4HY ofgd 29 7,000
—HI&2L 4,000,000 *14] 4,000
— A& ZHl KXY 5,000,000& 0.6 3,000
02 =329 4,000 0 4,000
OJIAHAIE S X 4,000,000& *14] 4,000
402 QIEE01M 3,960 1,800 2,160
02 BIZ2HCH&H AL HI 3,960 1,800 2,160
OCCTV &l === 330,000& 122 3,960
405 KHeHHE SHI 1,500 0 1,500
01 L SSFHSHI 1,500 0 1,500
OgeE dFH ¢ 1,500, 000 = 1CH 1,500
sURd 24 43,370 14,650 28,720
201 LEH23H] 43,370 12,000 31,370
01 AtR2teld 10,720 0 10,720
OsSURE 29 HZ7Y 400,000& *10= 4,000
O& = MEH 80,000& x10&s*123]+0.7 6,720
02 52294 32,650 12,000 20,650
ottgdz ¢ 1,1202%20,892.8 4 23,400
Ot EXIE &XI 750,000 *3H 2 2,250
OsSURE Ads X
1,000,000& *105+0.7 7,000
= BHOE d20sta 2E 2L 53,929 112,353 AD58,424
101 elAH] 17,729 20,293 A2,564
10 JIZAH22ASES 17,729 20,293 N2,564
O2Ee¥ 17,729
—Jlaas 34,0903 180 x2H 12,273
—=X=g 34,0902 36 «2H 2,455

_10_




A AL 2te| ALY A
J(‘IJ_(H:

S5 o MSAE B2 (SHUDH/25H0S)
Chel: BHOIHE 2t (Cro|: ® e
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
— eI FOE 34,000& x8 2 H 546
—sd224 34,0903 x36 2! x2H 2,455
201 LBet2AH| 31,400 17,100 14,300
01 AtR222idl 17,200 0 17,200
O2gs8sE PL(otolmAae 48)
600,000& x12& 7,200
O=E2E & 10,000
— OFLH 28 X} 3,000& *1,5005 *x23| 9,000
—sg 100,000& *10& 1,000
02 =324l 14,200 17,100 A 2,900
O MY HiAaEH 2,000,000 *1= 2,000
O&atdlE, Ed8le2 400,000 x12& 4,800
OEotAdHl =2 150,000& x12& 1,800
OstZERE =2 1,000, 000& *x23] 2,000
OAlId&H| |Xld] 300,000& x12& 3,600
206 =4I 4,800 0 4,800
01 THEHI 4,800 0 4,800
O30 HAata! ST 29l 1,200,000& =44 4,800
OSSR MK O & B2 (A - FAII/0 1,728,000 0 1,728,000
EPNEDEED/ =1
= 978,000
iy 750,000
MM HUHKX 2ESAS 1,728,000 0 1,728,000
= 978,000
iy 750,000
HHESs2 B2 eX A 930,000 0 930,000
= 558,000
iy 372,000
401 AIEHIZ 204 930,000 0 930,000
= 558,000
iy 372,000
01 Al&bI 914,376 0 914,376
Ol 232 BfrZerd A
9, 143, 7603 * 100Kw 914,376

_11_




A AIESeIAE A
HH: WSS HUHA etd 2 IS (MY - SAIG /UKL RHRINY)

E2l ATHA OIUHX 2SS ALY (ctel: &
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS 0l &k o4 e HlnE2
= 558,000
i 356,376
02 Zeltl 13,764 0 13,764
ONNS R BTN &)
930,000,000 *1.48% 13,764
03 AIZ=C0HHI 1,860 0 1,860
OtxEZsh2 eaud &yl
930,000, 000& *0.2% 1,860
Ol Xl 232t XIS HH S| 798,000 0 798,000
= 420,000
= 378,000
401 A &HIZ204YI 798,000 0 798,000
= 420,000
= 378,000
01 Al&HI 796,404 0 796,404
OSSR X2 s
1,137, 720& *700Kw 796,404
= 420,000
o 376,404
03 Al&Z=0Hdl 1,596 0 1,596
O &2t XIS HHSH|
798,000,000& *0.2% 1,596
HYESHHHI (Al ZH2IAFE A ) (IIEFH/IIE 55,740 32,650 23,090
ol 2AH| 3,520 4,840 21,320
FAM E2FH| 3,520 4,840 21,320
203 HRF&H 3,520 4,840 21,320
02 ZFJAIHRFEY| 520 640 A120
OArE & 40,000& 13 520
04 BEN2IYRFLEYI 3,000 4,200 A 1,200
OZ& 3020lat 250,000 10t x 12 3,000
Jl23| 52,220 27,810 24,410
gEA J|2Z3| 40,700 17,250 23,450
201 Lt 40,700 17,250 23,450
01 At 2teld] 40,700 17,250 23,450
oY=yl 40,700
— =2 40,0003 x2H 365 29,200

_12_




A AIE SIS A
M HH2AZHI(AEZelMEA)(IIEHIIE

el Jl=&sl (298
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
— & Al 50,000 x2Z 110 11,000
— 2l 500,000& 14! 500
M JI=23Hl 11,520 10,560 960
201 ZEr=23H] 5,760 5,280 480
01 AtR2teld 5,760 5,280 480
OJl2gexzd 5,760,000 5,760
202 OdHl 5,760 5,280 480
01 AL 5,760 5,280 480
OJlzge=xa 5,760,000 5,760

_13_




